101 B FERHOR R LUAE R R ER B — A IR A S 4
LS ER SR MR

HAEEER ELE 2 | BIE

O LA B 10.72 9.16
0L kEE FiL 7.56 5.27
O 1A HEO 9.46 6.33
01 A HEMEO 9.24 6.65
O LR HERHEHC) 10.91 8.89
0Lk el 48.10 38.88
028 ST IEE i 10.72 9.16
028 ) ST IEE FiL 7.56 5.27
028h It bk B HEO 9.46 6.33
028 ) JJHEET HERHE) 9.04 6.62
028 ) JJHEET HERHCE) 9.92 7.37
028 ) JIHEET LELR 5y 44.00 33.82
03 EE MBI EE T RFEE I Eie 10.72 9.16
O3 EE MR EE TR EE R JixL 7.56 5.27
03 EE M e T REEE I #EO) 9.46 6.33
03 EE MBI EE T RFEE I HERHC) 9.59 7.06
03 EE M e T REEE I HERHCE) 9.24 6.76
03 EaTAef,ﬁi 5 FEF I LELR 5y 48.32 37.66
M EEE TREE T Eipe 10.72 9.16
MR EEE TREE T FE3L 7.56 5.27
ML EE e 4 #EO) 9.46 6.33
ML EE e A HERHC) 8.45 5.75
ML EE e A HERHE) 9.60 7.26
ERAE T RFE T HELR Sy 44.80 34.11
oﬂbzﬁi Eie 10.72 9.16
0BT B Ji3L 7.56 5.27
0{E LR #EO) 9.46 6.33
0{E LR HERHC) 10.13 8.29
0T B HERHCO) 12.00 10.32
0B TEf QALK 5 53.77 46.32
06 F KRBTSR £ 10.72 9.16
06 AR B REREE Ji3L 7.56 5.7
06t RELJEEEE #EO) 9.46 6.33
06t RELJEEREE HERHO 9.91 7.53
06 RELJEEREE HERHCO) 11.24 9.07
06 L AR B ERRE AR Sy 49.65 40.71
075%ThE £ 10.72 9.16
075%ThE Ji3L 7.56 5.7
075%aTEf #E(B) 8.51 5.36
075%aTEE HERHC) 11.82 10.35
075%aTEf HERHEHCE) 9.07 6.73
075%aTEf HELR 5 46.47 38.33
ozaﬂ%é’iiﬁﬁi%;*éﬁ B3 10.72 9.16

FIH > H3H




101 B FERHOR R LUAE R R ER B — A IR A S 4
LS ER SR MR

HAEEER ELE 2 | BIE
08 THZ B R HL 7.56 5.27
08 T2 B R HEO) 9.46 6.33
08 LHE A HERHE) 11.36 9.43
08 TH2EAE TS EERLH (D) 11.59 10.12
08 T2 B E R el 51.98 45.01
09pHERE i 10.72 9.16
09pHERE FE3L 7.56 5.27
09 ERE #E(B) 8.51 5.36
09 ERE HERHE) 11.83 10.15
09pHERE HERHEHCE) 10.13 7.67
09pHEBE LELR 5y 50.65 40.97
107548 BLEE TS Eipe 10.72 9.16
107548 BLEE TS FE3L 7.56 5.27
1078 4F B EE IS HEA) 721 4.40
10/ 4= B HERHE) 11.31 9.10
10754 BLEE TS HEMEO) 12.61 11.67
107548 BLEE TS LELR 5y 5291 44.92
11 &bt 7% 10.72 9.16
11 &kt HiL 7.56 5.27
11 &L EE #E(B) 8.51 5.36
11 &b HERHC) 11.67 9.99
11 & imi HERHE) 10.33 8.23
11 &bt QALK 5 49.68 41.73
12Z BREAI TR Eibe 10.72 9.16
12Z BREAI TR AR Ji 3L 7.56 5.27
2Z BREAI R AR HEA) 7.21 4.40
Ve HERHEHO 12.10 10.76
Ve HERHEHO) 11.05 9.35
Ve QALK 5y 46.14 38.68
DBFR BB EERE Eie 10.72 9.16
DBFR BB EERE FEL 7.56 5.27
3R B4 S E BEA) 7.21 4.40
3R EBEF ARV EERE HERHC) 11.47 9.95
V3R BGEHE EERE HERHEHO) 11.57 9.84
DBR BB SERE QELR 5 44.49 37.30
142 SERE £ 10.72 9.16
142550 Ji3L 7.56 5.7
1423 #E(B) 8.51 5.36
142350 HERHC 12.48 11.00
142 3ERE HERHCO) 11.76 9.83
1423 QELR 5 53.06 44.36
159 BT R B Eie 10.72 9.16
159 BT R EAE FEL 7.56 5.27

F2H > H3H




101 B FERHOR R LUAE R R ER B — A IR A S 4
LS ER SR MR

HAEEER ELE 2 | BIE
155N EERETERESH HEE(B) 8.51 5.36
159 eERF SLaEsH HERHE) 9.54 7.18
159 eERFSLaE HERHCE) 9.03 7.29
159 MR TR R el 50.86 41.95
169 sERE HeEE B 10.72 9.16
169 NEEE HEEH HL 7.56 5.27
169N EEE HEEH HEE(B) 8.51 5.36
169N EEE HEEEH HERHE) 9.80 7.59
169 NEEE HEEH HEMEO) 9.01 6.95
169 sERE HEEE LELR 5y 44.06 35.89
17T EE Eie 10.72 9.16
WE=Jiigits HiL 7.56 5.27
1 7B REE #EE(B) 8.51 5.36
WE=Jiigits HERHE) 10.89 8.84
1 7B REE HERHEHCE) 10.98 8.87
17T iEE LELR 5y 44.50 35.60
18/5EEE 7% 10.72 9.16
18/5EEE HiL 7.56 5.27
18T HE(B) 8.51 5.36
18/ REf HERHE) 9.23 7.11
18T HERHE) 10.70 7.97
18R LA Sy 44.04 34.65
197K EERE £ 10.72 9.16
197K EERE JiL 7.56 5.27
197K EEBE HE(B) 8.51 5.36
197K FERE HERHEHO 11.76 9.78
197K FERE HERHCO) 11.43 9.70
197K ZEBE QALK 5 45.96 38.27
0EE T EERZ (A Eie 10.72 9.16
2024l RE 2 A Ji 3L 7.56 5.27
2024l RE 2 (R HE(D) 6.64 4.12
2024l RE 2 (R HERHC) 10.37 8.44
2024l RE 2 (R HERHCO) 10.14 8.24
2024l RE 2 A QELR 5 42.58 33.40
JVEEH £ 10.72 9.16
JVEEH Ji3L 7.56 5.7
QVEEH #E(B) 8.51 5.36
JVEEH HERHC) 12.32 10.91
AVEEH HERHCO) 11.13 8.94
AVEEH ARy 53.94 45.37

F3H > H3H




